Math 33A - Lectures 3 and 4 S—
Fall 2018 gl L A

Midterm 1
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Instructions: You have 60 minutes to complete this exam. There are five ¢
worth a total of 50 points. This test is closed book and closed notes. No calculator is
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] For full credit show all of your work legibly. Unless instructed otherwise, you
» tify your answers. Please write your solutions in the space below the ques

if you go over the page and/or use the scrap pages at the end of s boo
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@2:‘“ take a moment to ensure that your boqklet&mlgg '

 reserved for additional work.
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;ﬁ {Eph] Find a nonzero matrix A such that AZ is perpendicular to the vector # = [ :\

¢ ‘sho"show that your choice of A satisfies the prescn d condltxon
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for every # € R®. [You do not need to justify how you found A, but you do
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in question (b), and V = {& € R* such that 7-Z =7 - §}.

| Pmtm {171,6‘3,63} is a basis of V.
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] Let T: R® — R? be the reflection acrosstheplane P. Find the matrix of
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